Mo2ool & Ab 22 M A
2012EE 2O & 2BHS|
SN FUMBTAA
D 0300 NLDEA
2310 AL RRA
8 311 NEDEA (9l &3l
RN 0l ey & = 0 by HIRE2
ES A 8,390, 171 8,633,571 A243,400
FUMETAA 8,390, 171 8,633,571 A 243,400
300 XIS Al 223,945 445,533 A221,588
310 X2 Al 223,945 445,533 A221,588
311 XY w2 Al 223,945 445,533 A221,588
311-03 2A DA 223,945 445,533 ~221,588
OB AMEI=T2 29 14,000
OZZ22AY 59,580
OEAM2t24g 50,365
500 EX= 8,166,226 8,188,038 221,812
510 =2 1Ex=S 7,055,654 7,052,185 3,469
511 21EX3S 7,055,654 7,052,185 3,469
511-01 = 1EX3 7,055,654 7,052,185 3,469
OXEZA ACIHIOIE X2 17,518
ONAZAR SE2 X2 4,871
ORI AFSI A HI A SXFALY (XIS &S E-0LS 01X ) 34,400
OXISASI MHIA SXAIY (XIS 8-SR 8 S0S) 77,184
OXIHABI MBI A SXFALS (BE AL E) 334,080
OXIGABIAHIA SEXAIR (SIHLE -SRI LTI B A
HlA) 26,496
OXIGABIAHIA SEXALS (29HI) 3,000
OASI=X SBAHA B2 N 39,181
OZIZENHLHIH N (AAB2IAL 2HHI) 3,150
O2s=X 154,600
OdAH=N 3,928,571
F=AH=N 765,367
OusgH 139,549
OB & ERIZ 0 34,144
OX&SINE %2 2ol X2 59,707
OJZ43N FLAT X 128,087
OFHE=SS0H =2l 120,000
oxgz=z 676,657
OXeA=ZH 22,754
OXGREHE 29 130,359
ONASESZANSZNA(SYIISER) 14,850




£ FodanAd
& 500 2Xx3
2 1 510 =1EX=SS
g 511 302X SS e
SN-F-2-8-5 Off &k 4 S Off Ak Y Hlnsz
OJtArZtE 22 AMHIA 15,925
OXNESSH LXAeIArg 156,492
OAZI DY | 173,712
520 Al EHIEZ=S 1,110,572 1,135,853 N25,281
521 Al - SHIEX=S 1,110,572 1,135,853 A25,281
521-01 Al - EHIZEXZS 1,110,572 1,135,853 A25,281
OXEZA 2CIUIOIE XI& 8,759
OXNESAA 288 K& 1,461
OXGA2IMEIA SXHALE (XIS S EFE-0LS I XI) 4,300
OXSAZI MHIA SRASE (X SHEE-2MASOLS) 9,648
OXSGASIMBIA SEXAS (HEAISE) 41,760
OXN YA MEIA SEXHAIS (SHLS-Z0HIEZD|D| IE A
HIA) 3,312
Osatdeds X 5,000
Oz2Z=x 19,325
OdAH=0 490,446
O=Had 95,671
Onss™ 17,444
Ool &t & H =0 4,268
OXdIAHS s=2 XA 7,463
OMASSNHE sty HEE 6,870
OXMLSEsNE sE+Z2 X 61,200
OMASSE Mgy n=72H| 13,875
FHE=230 d=+cl 15,000
OIIzdEBY-3 A FHEZNS 11,400
Oofltg=Z= 84,582
O ASSH 2,846
OXNGHEdE 29 27,934
O SAt 2435 N& 10,000
ORI SARE A== 1,000
SYKRSA 2X2el A 650
ONAS XYAANS S2 N& 18,750
ONASS Fglia NA(AYIISSH) 5,906

OJtA2HE 2= =20 1,826
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